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Carefully read the instructions given on Question Paper,
OMR Sheet and Answer Sheet.

- Rt &=t T STish wron § ¥ 1 wdveneff S feran &
foru femelt oft Ter IO 1 =oF S Hehat © | (37fd, =1 o et
1 3AUST)

Question Paper is in Hindi and English language.
Candidate can choose to answer in any one of the language.
(i.e., either Hindi or English)

TH A/ TR F S U € | 9 Tk H AR T R 9
2 H ute T ¥

There are TWO PARTS in this Module/Paper. PART ONE
contains FOUR questions and PART TWO contains FIVE
questions.

T Ueh ‘' Shfeush '’ YR 1§ faeh Fd i 40 § qen
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PART ONE is Objective type and carries 40 Marks.
PART TWO is Subjective type and carries 60 Marks.
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PART ONE is to be answered in the OMR ANSWER
SHEET only. PART ONE is NOT to be answered in the
answer book for PART TWO.
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Maximum time allotted for PART ONE is ONE HOUR.
Answer book for PART TWO will be supplied at the table
when the Answer Sheet for PART ONE is returned.
However, Candidates who complete PART ONE earlier
than one hour, can collect the answer book for PART TWO
immediately after handing over the Answer Sheet for
PART ONE to the Invigilator.
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Candidate cannot leave the examination hall/room
without signing on the attendance sheet and handing over
his/her Answer Sheet to the Invigilator. Failing in doing
so, will amount to disqualification of Candidate in this

Module/Paper.
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After receiving the instruction to open the booklet and
before starting to answer the questions, the candidate should

ensure that the Question Booklet is complete in all respect.
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Note : In case of any discrepancy found in Hindi version, English version will be treated as final.
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DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




HIT Teh / PART ONE

(Tt Ui o ST S / Answer all the questions)

1.1

1.2

el Tieh U9 oh ST o ohg folehed fQU T
¥ T ge@ Suged faseq o oiv =@
Y-U o I ST i T 3TTH=i”’
I ek H, 36H fqu e fdeh & e,
Skl

Each question below gives a multiple
choice of answers. Choose the most
appropriate one and enter in the “OMR”

answer sheet supplied with the question
paper, following instructions therein.

(1x10)
IPVATSH R :
(A) 8 Tae (B) 16 foe
(C) 32 fse (D) 64 foe
IPV4 Address is :
(A) 8 bit (B) 16 bit
(C) 32 bit (D) 64 bit
TCP/IP eihia Aled H SRS
AT |
A) B (B) T3
(€) wd (D)
TCP/IP protocol model consists of

_layers.

(A)  Six (B) Eight
(C) Seven (D) Five

1.3

1.4

ayfier e o o e, AT @ el
TR A € ?

BRI R

(B) wivIIMm

T.C LS.

LSIECACE]

Where do modern PCs store CMOS
settings ?

(A) BIOS
(B) Flash ROM
(©) NAVRAM

(D) South Bridge

AT Tdl H1 faedy gedr F=4 ¢ S
255.255.255.224 HaHE AR hil TIAM HiA

AT T Hee W By s ffdw o s
BT

(A) 15 (B) 10

(C) 25 (D) 30

What is the maximum number of IP
addresses that can be assigned to hosts on
a local subnet that uses the 255.255.255.224
subnet mask ?

(A) 15 (B) 10

(C) 25 (D) 30
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1.5 9PRAY TA.CTA. % faQ [EEE 802.11 A& | 1.8 & HEX I HT @ 7, o.3TE..TH. &l

AN fohE Ao Iuet ToRId Tehrih ol TN fora ad o AN A e S 7 |
?

w%@ o (A) ™ (B) W

A O UHT, /9ISl

) Q) H® (D) HE-Im

(B) HIL.UH.UHU/H.T Wh ) s
en a computer is booting, BIOS is

(©) WTHTHT/THL. loaded to the memory by :

(D) H.udE.TH.T /S (A) RAM (B) ROM

Which multiple access technique is used

by IEEE 802.11 standard for wireless (© CACHE (D) CD-ROM

LAN?

(A)  CSMA/CD 1.9 frfafed § & omd wgw «i team =i

(B) CSMA/CA
(C) CSMA/AC (A) 300-215-317-3
(D) CSMA/DC (B) 302-215@417-5

(C) 202.50.20.148

(D) 202-50-20-148

Identify the IP address from the following :
(A) 300-215-317-3

(B) 302-215@417-5

(C) 202.50.20.148

(D) 202-50-20-148

1.6 X Hel fshamramdl  wan ford S A
JuH . U T FA Y ?
(A) e THfE! st
(B) IfTerel Hiftaar o9
(C) e Hiftad s
(D) 3fegl QAR efish

What is the full form of USB as used in
computer related activities ?

(A) Universal Security Block 1.10
(B)  Universal Serial Bus
(C) United Serial Bus

(D) Ultra Security Block

1.7 .gif, jpg, bmp, .png 1 FIN forear & &9
gl & feTq foman SIa1 € S SR hld © -
A) effedr € (B) fifed gar CSS stands for :

(
© F=a (D) o= = (A) Cascading Style Sheets

D) AT @ vew

.gif, jpg, .bmp, .png are used as extensions
for files, which stores :

(
(A) Audio data (B) Video data (
(C) Image data (D) Text data (
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B) Collecting Style Sheets
C) Comparative Style Sheets
D) Comprehensive Style Sheets




2.1

2.2

2.3

2.4

2.5

2.6

2.7

2.8

2.9

2.10

e feu TTT wereh foreror 4 | wEl € st

T | Tk ol Iuga fashed I 3R

I8 YYA-UN &% WY IUTs™ HAL Y

“THI S UHeR W, AW U T

TcoTl o FER, T i | (1x10)
X

ekt o9 {0 Ty faft o wam & §

ST, 7/ eTer Weh 39 9 SATaefen fasen
gl

T 3R IS BIES TeTaeRd Wi gl
ST & @S 37R 22 S Hehdl & |

o~

HP hodl fefSedt Hohd THY i § HaH

Tl

SIS A1 hRA ST o YAM 9 A9 J&Ia:
TR o TR YR o Fehdl % |

HIZShIhI h1 JAIT Teh 379 feamsd o &9
IEEIS G

FA D, g T FHafen fawe T

THieR Teh Wea=R § S 7 Hifges arma ®
IFINT F TeAT Suetsy ¥

T, T TgH & SMYR R Foig e 2

aY Zrararst & e shdihd 5wl
AT Bl T |

2.1

2.2

2.3

24

2.5

2.6

2.7

2.8

2.9

2.10

Each statement below is either TRUE or
FALSE. Choose the most appropriate one
and ENTER in the “OMR” answer sheet
supplied with the question paper,
following instructions therein.

(1x10)

Magnetic Tape uses random access method.

GNU/Linux is an open source operating
system.

Worms and Trojan Horses are easily
detected and eliminated by antivirus
software.

Computer is capable of processing only

digital signal.

Using Illustrator or CorelDraw, you can
create mainly raster type of graphics.

A microphone is used as input device.

UTP is the cheapest cabling choice.

Freeware is software that is available for use
at low monetary cost.

Router takes decision based on MAC
Address.

Mesh Topology requires centralized
controller.
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3. hiem X ¥ fau wu vredi SfR arerit ot faee e Y § fou q ferean wwaifia stel )/ viedi/
TR | Y | IO Forehed U9T-uw o A fqu T ¢ Situwe ! ST ueen §, 36H fou Ty rewi

T T hid g, TS ahi | (1x10)
X Y
3.1 [ShmHeEa A. |[SweH, giuee
3.2 |fiex wafn B. |22 foish o=
3.3 |TA.3. S Jedth C. |hig-3AaR Fea
3.4 [Yfearasm D. |[Thell ERrS feard
3.5 |21 % I Ffe-Ta A0 E. [€a1 wHeH gfefadt
3.6 |dhaifcr fafy F. |FDD, HDD
3.7 [ G. [30 MHz 91 GHz
3.8 |fodfsa H. 9™ THd UiEe
3.9 |9 Srmarst I |TEHRyM TR
3.10 [T, J. |64-bit OS
K. [32-bit OS
L. [3x10"Hz9§2x10" Hz
M. |ZiEUR TR
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3.  Match words and phrases in column X with the closest related meaning/ word(s)/phrase(s)

in column Y. Enter your selection in the “OMR” answer sheet supplied with the question

paper, following instructions therein. (1x10)
X Y
3.1 [Defragmentation A. |Backbone, Dropline
3.2 [Printer Sharing B. |Data Link layer
3.3 [NT based networking C. |Cross-over cable
3.4 |Radio waves D. |Secondary storage device
3.5 |Error-free transfer of data frames E. |Data Compression utility
3.6 [Cabling method F. |FDD, HDD
3.7 |RAM G. |30 MHz to 1 GHz
3.8 |Winzip H. |Wireless Access Point
3.9 [Bus Topology I. |Application layer
3.10 | FIP J. |64-bit OS
K. |32-bit OS
L. [3x10" Hz to2x10" Hz
M. |Transport layer
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4. o Uk 9T U e & TE gt | Ueh 9Ie O a1 ot foren o foig e T §) wew
IugE faehed <A 31 30 U99-Ux o W19 U T ¢ SRR’ 3O% useh H, 36 QU T /a9

& FTER, TH A | (1x10)
A. [red B. [SeThT C. [dfhe

D. fqeH o™ E. [gSidi F. |cqudrdt

G. |[®I-Ufemad el | H. (&1 I (3 e

J. |SrEd K. [ L. |[aMRe™ ToY A2

M. [ TR e

4.1 TRET 9% ST, H U ®9 |

4.2 T FARME-IE Terhid & |

4.3 F T Y HE F T Th TR F T FIR H Tohd ¥ |

4.4 afefw wt fewriee 91 d@m 80 T

4.5 FeTH TR W FRRA feary # % &9 H S S R

4.6 Teh YR 1 TIggd hee © 98 U o7l Hameiss 8 § S Tk TgeeR JUahReE

TRA, Teh IR G Yes I ol 2t 7
4.7 RIS I WIS-UW T T H H HihAT Bl % &9 H F S T
4.8 59 TF | STATHRAT Tk S & Y T H 8, S % €9 H S SO R
4.9 T YR 1 TRE T |

4.10 Teafem o, 321 3iaor 3 9§ Yeol qufdq are zenfuq feran St ®1
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4. Each statement below has a blank space to fit one of the word(s) or phrase(s) in the
list below. Enter your choice in the “OMR” answer sheet attached to the question
paper, following instructions therein. (1x10)

A. [Gateway B. |Interface C. |Circuit

D. |System Bus E. |UDP F. [SMTP

G. |Co-axial cable H. [Burning I. [Trojan Horse

J. (TCP K. |[HTTP L. |Wireless Access Network
M. |Wide Area Network

4.1 Acronym WAN stands for

4.2 is a connection-oriented protocol.

4.3 Through , the components of the computer can communicate with each other.

4.4 Default port number of service is 80.

4.5 Device Operating at Network Layer is known as

4.6 is a type of electrical cable that has an inner conductor surrounded by a tubular
insulating layer, surrounded by a tubular conducting shield.

4.7 The process of copying files to a CD-ROM is known as

4.8 The way in which users communicate with a computer is known as

4.9 is a type of Virus.

4.10 In switching, dedicated path is established before data are transferred.
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It & / PART TWO

(for=dl = wosil & ST/

Answer any FOUR questions)

YT TH TUM & S AT FE
IR eimfeén fowd (siwy) =i
SRS #@ €1 BOOTP 3R 92
TS i TR < qAT SHHRT HTATHE

1 U HY |

S TH.TE. WRErRd S & Th R
! AR & IR H ford |

A bootstrap is the program that
initializes the Operating System (OS)
during startup. Define BOOTP and

Boot Loader and its functionalities.

Write down the functionalities of

each layer of OSI protocol suite.
(7+8)

(©)

AEW TgH, U UgH, U TSH
TR SR ITH § TO® % SR H
Heg 4 ford |

ek rdrersi o € 2 SHAR T T
Sl ST et fhwal =R 2rdrersi < o H
fod |

Define IP address, MAC address,
Port address and explain each of

them in brief.

What is Network Topology ?
Discuss any four most commonly

used topologies. (7+8)

fa=, ga iR s foo & o9 = 3@
7?2

Teh 1. 37T, 371U, Y2379 Ufshal &l AHeh
Tfew foe |

gy 20y id 999 .. 093, i
oJftrenT st =mE &l |

What is the difference between
Switch, Hub and a Bridge ?

Write standard settings of a BIOS

setup procedure.

Explain the role of POST during

system startup ? (5+5+5)
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8. (a) olfchawRRFaAMRaAFFME? | 9. Frefafed § 4 frdl dw  dfea feogoft

ford
(b) TS T STARTeRdl T9g Sl & (a) TR
|
(b) <@
(0 FEm T, ¥ fie B 4 Teia oin () %h fewm
TR F B ?
(d) SHEER TEH TR (SLTEY)
(a) What are the advantages and Explain briefly any three from the
disadvantages of Optical Fiber ? following :

(a) Firewall

(b) Explain Local User Group in
Windows. (b)  Telnet

(c)  Scan Disk

(c) How to install and share a printer in

Windows NT ? (5+5+5) (d) Direct Memory Access (DMA)
(3x5)

-00o0-
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